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Pg. 111-112 Pg. 160 MATCHING SYSTEMS AND GRAPHS Match the system of linear inequalities with its graph.

21.y=4 22.y> —4 23.y 24.y >, 25.x=3 26.y > —1
VIATCHING GRAPHS Match the inequality with its graph. ¥2t, TS S 12T W P 0
24 2x—y=4 25 —2—y<4 26.2c+y=4 y=0 x=0 yEoxAlL o y=—atd
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INEQUALITIES IN TWO VARIABLES Graph the inequality.
e
27.y=3x+11 28.y>—4—x 29.y<0.75x—5 - e
3 2 vy | | rJf ]
30.3x+ 129> 4 31.9x — 9> —36 32.3x+3y>1 SYSTEMS OF TWO INEQUALITIES Graph the system of linear inequalities.
GRAPHING INEQUALITIES Graph the inequality in a coordinate plane. 27.x<5 28.y> -2 29.x=0
x> —4 y=1 x+y<ll
.\'—2yS—18 37.y<3x—% 38. 5x > —20 3014 y= -2 3 y=—4 ?ys2-7
\ —Sxt+y<-3 y< =2+ 10 4r+4y<—12
39.y=2c+ 10 40. 4y = —6 4120+ 3y>4 ®,<,+4 Mty 8 3.y
1 V= =2+ 1 x+y=6 x=5y
ﬂ.ﬁrz—i\' 43.0.25x + 3y > 19 4. x+y<0 x—y>7 3.7 4y>0 38 —x<y
2+y<8 —2y=5 x+3y>8
Pg. 53-54
SOLVING EQUATIONS Solve the equation. SOLVING AND GRAPHING Solve the inequality. Then graph your solution.
a7. |x+1] <8 @|12—x|s]9 49. [16—x| =10
32, |11+2x] =5 33, |10 —4x| =2 34, [22-3n| =5
50. [x+5|>12 51. [x—8| =5 52. |x — 16] > 24
3. | —5|=7 36. [8x+ 1] =23 37. |30 - 7x| =4
53. |14 — 3x| > 18 |4x + 10| <20 55. |8x + 28| =32

38'|4l"_5|=8 3. |%"+2|=10 40. |%"_3|=2 @|20+%x|>6 57. |7+ 5| <23 88, |11+ 6x| =47




